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Section One: Vocabulary 1Fee 6> Q,.o)T
1. Even though | live by myself, | buy everything in ................. to save money.
1) bulk 2) vision 3) brief 4) estimation

2. During testing, the electric car traveled at 85 km/h for nearly 9 .................
hours on a single charge.

1) established 2) consecutive 3) available 4) diverse

3.IN et of her father’s wishes, Corrine agreed not to sell the farmhouse
after his death.

1) manipulation 2) quotation 3) pursuance 4) possession

4. There has been a lot of ................ over the use of genetically modified
organisms in agriculture.

1) ethnicity 2) accumulation 3) welfare 4) controversy

5. The sun’s UV radiation ............ a significant health risk and may lead to eye
damage.

1) poses 2) grants 3) affects 4) ensures

6. An emergency board meeting was ................ by the directors later that
afternoon.

1) confined 2) exposed 3) isolated 4) convened

7. After the storm .............. , the school children were able to safely go home.
1) intensified 2) subsided 3) facilitated 4) heighten

8. The girls were ................... grateful to be able to use their computers again.
1) idly 2) influentially 3) hierarchically 4) exceedingly
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9. Dr. Kang is investigating the mechanisms that .............. how neurons
communicate with each other.

1) induce 2) underlie 3) tighten 4) devote

10. They were already operating under the ................. of the local law
enforcement agencies.

1) weather 2) renovation

3) auspices 4) accommodation

11. The President requested $1.8 billion in emergency ................... to fight an
outbreak of the Zika virus.

1) medication 2) sanitation 3) funding 4) lighting

12. Property taxes continue to be the main source of ............ for local
governments.

1) revenue 2) uncertainty 3) inspiration 4) contamination
13. In 1957, the Brazilian government hired a biologist to come up with a new
............ of honeybee that didn’t grow lazy in the hot weather.

1) distribution 2) breed 3) orientation 4) resource

14. If you have used ............ statistics in your report, you will have to start over
from the beginning.

1) compatible 2) numerous 3) apparent 4) erroneous

15. Josh Armel runs San Francisco tour with a ............ of seven Volkswagen
buses.

1) sum 2) sheet 3) shift 4) fleet

16. He's a powerful speaker, and | was impressed by the ........... of his views on
race and democracy in America and Missouri.

1) cogency 2) procedure 3) scheme 4) utility

17. All visitors are welcome to engage with these short times of prayer, but are
under no ............... to do so.

1) function 2) circumstance
3) compulsion 4) illusion
18. Sometimes there’s not enough water to allow farmers to ........... their crop.
1) exploit 2) irrigate 3) assemble 4) harvest
Goals sl
9.2 14.4
10.3 15. 4
1n.3 16.1
12.1 17.3
13.2 18.2




(O122) 50 6553 3 4yl 5L Wy ¢35 593932 9 (9 32) (SS9 ST ) O pgeo Sliwsl s jgoT— il 09,5

19. The room was a bitdimand ............. a strong smell of Chinese medicine.

1) devised 2) denoted 3) revealed 4) exuded

20. Young children seem to have an endless ............., able to constantly run
around with no end in sight.

1) transparency 2) vitality 3) torment 4) debate

21. He says that cyber-attacks ............... by foreign governments can now be
considered acts of war.

1) perpetrated 2) anticipated 3) refined 4) betrayed

22. Beyond nearly four million deaths, COVID-I9 has also ................... profound
economic crises.

1) circulated 2) exaggerated 3) intrigued 4) precipitated
23. When a baby kangaroo reaches ................, it leaves its mother’s pouch to
discover the world.

1) extinction 2) integrity 3) maturity 4) cultivation

24. The dog was the first species to be................ by hunter-gatherers more than
15,000 years ago.

1) assimilated 2) domesticated 3) conformed 4) deduced

25. The house is ............. by tall redwood trees, keeping it shady and cool.

1) encircled 2) accentuated 3) clarified 4) endured
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Section Two: Structure Part One 1Fe. > o,.o)T
Choose the one which best completes the following sentences.

26. Let’s go. It’s of no use ............... for them.

1) to be waiting 2) to wait

3) waiting 4) wait

27. e by a shot, the soldier was taken to a nearby hospital.

1) To wound 2) Wounding

3) Having wounded 4) Being wounded

28. This is one of those tourist traps that are actually worth ............ .

1) visiting 2) be visited

3) to visit 4) to have visited

29. Charities are nonprofit organizations that ........... money to provide social
services.

1) rise 2) arouse

3) raise 4) arise

30. The woman who ........... from inside a burning home Monday remains
hospitalized.

1) rescued 2) is rescued

3) would rescue 4) was rescued

31. He knew that the person............ on the door was a law enforcement officer.
1) knock 2) knocking

3) was knocking 4) who knocking
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32. The number of people who need help in this local community .............. to
grow each year.

1) have continued 2) are continuing

3) continue 4) continues

33. You’ll notice the difference immediately, and ...............

1) will everyone else 2) everyone else has too

3) so will everyone else 4) everyone else won’t postponed
34. Finally, it was proposed that part of the plan ........... postponed.

1) be 2) was

3) being 4) to be

35. Most writers would only dream of getting a $10 million payment for a book
of ........... to he turned into a movie.

1) them 2) theirs
3) themselves 4) they
36. ........... one more word, the manager would have fired you.
1) Should you say 2) If you told
3) Had you said 4) Did you say
37. The less you understand, ........... you will be.
1) the happier 2) happier
3) the happy 4) the happiest
38. All economies have been weakened by Covid-19 and ............. .
1) the economy of Delhi is too 2) so as the economy of Delhi
3) so has the economy of Delhi 4) so does the economy of Delhi
39. He had done so badly that he was made ............... the school year.
1) repeating 2) to repeat
3) repeat 4) of repeating
Gols sl
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40. 1 wish I ............... the reviews before | went to see the film.
1) don’t read 2) didn’t read
3) haven’t read 4) hadn’t read
41. Marketing is a set of processes for ..........., communicating, and delivering
products that are valuable for customers.
1) creativity 2) the creation of
3) creating 4) create
42. Let’s have buttered doughnut with strawberry jam for tea, ............... ?
1) shall we 2) have we
3) do we 4) are we
43. The thief ........... a key. The door was locked and nothing was broken.
1) could have had 2) had to have
3) might have 4) must have had
44. The criminal was deprived ............. his rights as a citizen.
1)on 2) at
3) of 4) for
45. In the late 1960s, when he was 13 the police caught him .......... a motor
vehicle.
1) stealing of 2) stealing
3) to steal 4) stole
46. He said that about 10 million people .............. by the end of this year.
1) will have been vaccinated 2) will have vaccinated
3) will vaccinate 4) will be vaccinate
47. e being introduced over 30 years ago, there is still no standard
definition.
1) However 2) Since
3) In spite 4) Despite
Gls gl
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48. Parkinson’s disease is a condition .................. parts of the brain become
progressively damaged over many years.

1) in which 2) that

3) in that 4) whose

49. This cameraiis ............ portable and captures high quality images.

1) remarked 2) remarkable

3) remark 4) remarkably

slayme slowl (olisl < y93») Fast Grammar Lite s)s;maie olS sy b

ool b @ (Ad i) (928 draw 1A Ha Sa39ks)

g
g
i
<
E www.FastZaban.com
g
&}
Rl
~ ®
; BosniT oyt sstit i = TR
/ el 5 ied¥e Bli%e%is
o3l 5 4,0 5 IS 50T @
5 Sl B LN 3132 B 8D 05T SV 0 @
X
EPT 3
MSRT ‘gﬂ
UTEPT a9
b
(SNG4 3 31 50
@
Gals slagwly

48.1 49.4




(1) 39 63553 5 iyl b3 W32 (3255 09555 9 (325 ) (SN34S 919 o Oliasl (3901 il 09,5

50. it is one of the ............... in America whose names are based on the Native
American names.

1) thousand of towns 2) thousands of towns

3) thousands of town 4) thousand of town
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Section Two: Structure Part Two
In each of the following sets of sentences, three sentences are grammatically
correct and one sentence is not grammatical. Identify the incorrect sentence and

mark your answer sheet.

51.

1) The current vaccines will continue to be highly effective.
2) Here are some of the main features of the tour.

3) The barked dogs kept them awake all night.

4) Adam doesn’t agree with what vegetarians say.

52.

1) This jacket’s mine. The other one must be Linda.

2) We had a terrible time at the amusement park.

3) My friend from Tokyo gave me a Japanese kimono.
4) The old man’s smile tuned to a look of anger.
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53.

1) This is how it can help you breathe more easily and freely.
2) Before you write your paper, you must submit an outline.
3) That’s what | think it’s a historical novel in a sense.

4) Below its surface lies an entire underwater world.

54.

1) At the time, it was reported the fight broke off over a carton of milk.

2) A new phone can be just as expensive as a new computer these days.

3) The results from the first test are the same as those from the second one.
4) 1 don’t want to smoke anymore, but | can’t stop because I’'m addicted.
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55.

1) They want to see how does he feel after his surgery.

2) We've been busier than ever at work this last month or so.

3) This species is found on an extremely remote island.

4) Ninety percent of us think the college placement test was hard.

56.

1) Some food stands have little plastic seats where you can sit and eat.
2) Computers were once too large that they could fill a room.

3) At the heart of the story is how the character uses technology.

4) There isn’t enough of that bread to make sandwiches for everyone.

57.

1) I've heard that food companies put a lot of chemicals in meat.

2) Australia has one of the highest standards of living in the world.
3) Besides the man was a little monkey dressed in a red cap.

4) The frequency of heart disease and cancer is low for vegetarians.
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58.

1) The pool is currently available by invitation only.

2) One of the film projectors is broken. It is being repaired.
3) Forty dollars is too much to pay for those jeans.

4) What did prevent them from offering it before?
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